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33651125 Ughrepnuhghli ninuihnzh Unphl a< huin 908.9 35 31.8115
punniudwt (ndnyeh
33621390 Udhnnwpnuh hhnpnpinphn q< nbnwhwwn 65 1600 104
33621450 Udinnhuwhu S nbnwhwin 6.28 2300 14.444
33651111 Liopunghili aushngl Mgl pmmbawn 9< hwin 1050 50 52.5
(ndnyph
Udopu U + Lunyuliwppent

33651112 S Lhﬁzlr ?thughh Eulr;nd:hdlwu l':f;mmh 9¢ huitn 3625 30 108.75
33651252 Utwuwnpngn| Q< nbnwhuwn 75 3000 225
33621420 Uinnpywunwinpty G< nbnwhuwwn 17.75 25000 443.75
33621420 Uwnnpywutnwinht 9< nbnuhwin 50.81 3000 152.43
33621761 Ugbinhjuwihghjwpepent q< nbnwhwen 37 3000 m
33621761 Ugbinhjuwihghjwpepnt q< nbnwhwwn 16.98 18000 305.64
gig;:;ig Phunwpnin| + Udinnhupht G< nbnuhwn 120.49 2000 240.98
33621720 Phunwpnin + Mbphunnuphi < nbnuhwn 126.32 4200 530.544
33621720 Phunwnnini 9 nbnwhwwn 8.9 25000 2225
33600000 Pphdnupnhu + fGhdnng Qg hwn 3580 5 17.9
33621380 “thqopuhl q< nbinwhuwwn 6.8 1000 6.8
33631310 Yhyin$buwy 9L nbnwhwwn 60 3500 210
33691212 THnudhu + <buwbphnhu 9< nbnwhwn 160 4500 720
33621210 Gplwe wwpniuwynn hwdwlgnipntu q< hwwn 1450 30 43.5
33621520 Euwjwuwphy + <hnpnpinpnphwahn Q< nbnuhwwn 16.5 3500 57.75
33621760 Euwjwuphy q< nbnwhuwin 4.72 2500 1.8
33661156 fShdning 9< hwn 341.4 10 3.414
33631290 hpnuypndku 9< nbnuwhwn =W 2600 9.62
33631290 hpnuypndbu 4< hwwn 564 30 16.92
33691260 Lwdnwphght 9< nbnwhuwtn 83.08 1800 149.544
33691600 Lubwhpwgbnwd 9L nbnuwhwin 59.67 8000 477.36
33691600 Lunphpopuht 9< nbnuwhwin 11.37 3000 34.11
33691600 Lunphpopuhl G< nbnwhuwtn 8.05 10000 80.5




33691203 Lnqupunwt < nbnwhwuwn 36.2 2500 90.5
33661133 Lunnnujw +4wpphnnujw g€ nbnwhwtn 34.01 4300 146.243
33611360 bl o I8 L R a< huwin 353.42 | 1000 353.42
punnitdwl
33691231 Ywighnud+ funiblwigh$bpng 9L nbnwhuwin 4352 13000 565.76
33621690 Ywnybinhing G< nbnwhwn 20.13 8000 161.04
33631300 Lbnnwpnb < nbnwhwn 68 2000 136
33621140 Yinwhnngpb 9< nbnwhwn 40.75 10200 415.65
33642220 Ubkphjwypbnuhgninu 9L nbnwhwwn 53 5500 291.5
33611150 Muwuypbwwnht (hywq, wdhjwg, wpninbwgq) | < nbinwwwnha 90.1 3500 315.385
33611470 Mwltnnujpwgny s nbnwhwwn 35.53 8000 284.24
33661122 Muwpwgbinwdn| 9< hwin 360 15 5.4
33661122 Muwpwgbnwdng < huwun 26 50 1:3
33661122 Muwpuwgbnwdng < hwn 53 100 9.3
33661122 Muwnuwgbunwdng < hwn 27.8 50 1,39
33621480 Mbphunnwph 9L nbnwhuwn 63.52 3000 190.56
33621460 Mbphunnwphy + Udinnhught 9< nbnwhwin 150.93 8000 1207 .44
33621460 Mbphunnuwphy + Udinnhuhu 9< nbnwhwwn 120 2000 240
33621460 Mbphunnuph; + Udinnhwht SE nbnuwhwwn 82.6 3000 247.8
33621530 Mephunnwph; + hunwwwihn 4< nbnwhww 161 10000 1610
33621530 Mbphunnwphy + Punwwwdhn 4< nbnwhwwn 54.14 10000 541.4
33621764 Mapphunnuphi+ hunwwwdhn+ Wdnnhwypu | 9< nnwhwin 84.13 3500 294.455
33621764 Maphunnwphi+ hunwwwdhn+ Udpnnhwyht | 9< nbnwhwwn 103.25 9000 829.25
33621764 Mbppunnwphi+ Punwuwwdpn+ Udinnhwht | < ntinwhwin 160.7 4000 642.8
33691186 Mhpwgbinwy 9< nbnwhwtn 48.01 3500 168.035
33691124 Nhpwlinby 9< huwn 1480 15 222
33621550 Mwdhuyphy ac nbnwhuwn 4527 3300 149.391
33621550 MNwdhwphi + Udinnhwht q< nbnwwwwnhé 150.93 2500 377.325
33621550 Nwdhwphy + Udinnhwht 9L nbnwwwwnhé 114 2000 228
33671113 Uwipnunwdng unybwin Q< hwwn 800 200 160
33611210 Unybwuwiwght 9< nbnwhwwn 74 1000 74
33621620 Uwhpnunjwlunnu a< nbnwhwin 14.23 10000 142.3
33621110 Jwppwpht s nbnwhwin 8 4000 32
33691209 Swdunynghtu 9L nbnwwwwnhé 99.28 1800 178.704
33651253 SwifopuhPhl 9< | nbquhwn | 135.87 2000 271.74
33621774 Snpwubidhn 9L nbnwhuwn 65 450 29.25
33631491 8bwhphght QL huwtn 2079.66 50 103.983
33671118 Shwpninpuwght + Hipuwdbpwgnu Q< hwun 2016 3 10.08
33651117 Sb$hpuhd < huwn 2334.42 30 70.0326
33611100 Odbwpwagng 9L nbinwwuwunhé 9.98 10000 99.8
33621590 Dnipnutihn Q< ntnwhwwn 3.3 4200 13.86
33671116 Luhndbunwgnihu < 1483 29.66
33661121 Ugbwnhjuwihghjwpeent q< nbnwhwwn 16.98 3000 50.94
33621420 Uwnnpjwuwnwinht Ywighnu < nbnuhwn 1775 3000 53.25
33621390 Udhnnwpnu 9< ntnwhwn 65.00 600 39
33621720 Phunwpnin) + Mbphunnwphi Q< nbnwhwwn 126.32 600 75.792
33621720 Phunwpnin| + Udinnhuwht QL nbnwhwn 120.49 510 61.4499
33621720 Phunwnnin $nudwnwin Q< nbnwhuwtn 8.90 3000 26.7




33621760

nbnwhwin

Euwjwuwphy < nnwhwin 4.72 800 3.776
33691733 Euwwuph| dwjbwwn+hhnpnpinpphwahn Q< nanwhuwtn 16.50 800 13.2
33642230 Lunphpopuht Q< nbnwhwin 8.05 1000 8.05
33691203 Lnqupuwt Ywihnid 9< nbnwhuwtn 36.20 510 18.462
33691203 Lnqupuwu+hhnpnpinppehwahn < nbnwhwwn 70.46 510 35.9346 -
33691600 Lubinhpwgbiunwd < nbnwhwin 59.67 3000 179.01
33661133 Lunnnujw +Ywpphnnww S nbnwhwtn 34.01 3000 102.03
33600000 tunjhuwigh$tipny, Yuighnu 9< nbinwhuwn 43.52 1200 52.224
33621690 Ywpybnhing q< nbnuhwin 20.13 1800 36.234
33611470 Yinwhnngnbith phuny$win Q< nbnwhuwin 40.75 1620 66.015
33611470 Mwlwnnwpuwqn| 9< ntinwhuwtn 3553 600 21.318
33621460 MEphunnuwphy + wdinnhwhu q< rnpinwhuwin 150.93 600 90.558
33621530 Mtphunnuph+hunwwwdhn < nbinwhwn 54.14 900 48.726
33621764 Muphunnwph( + hunwwwdhn + wdpnnhwptu | %< nbnwhwwn 84.13 600 50.478
33621764 | Mphunnwphy + punwwwdhn + wdnnhwht| 9< | pbnwhwan 103.25 1200 123.9
33671113 Uwipnunwdnih uny$uin < hwwn 800 12
33621620 Uwhpnunjwlwnnt 254q q< nbnwhwin 14.23 900
33621110 Ywpbwpht Uwinphnid G< nbnwhwun 8 600
33611100 Odtwpwagni 4< nbinwwwwnhé

33661131 bhunpwpphunwg :
33661137 Lnpwqbwywd 9< nbnwhwn 16.21 1200 19.452
33661137 Lnpwgbywd G< ntnwhwwn 18.54 3000 55.62
33661180 Y nbwqbuywd 9L nbnwhwn 39.42 1200 47.304
33661136 hwqbwwd 9< | ntnuhwin 12.17 1500 18.255
33661136 THuwqgbiywd 9< nbnwhwwn 11.00 3000 33
33661136 Thuwgbywd q< upduwy 106.20 150 15.93
33691226 Vnuwhwpbn powl 50ug a< ”h';”;;‘:‘u"h“ 210 4000 840.0
33691226 Spwdwinng QL upyuly 800 1000 800.0
}w = Al o i P ;

33651223 Puynwgdwl nbd Wwundwuwnwuniye q< unyuwl 37 50 1.85
33651199 Ywwnwnnipjwl nbd ywnjwunwuniyp 9< upyuwly 4200 12 50.4
33631290 Ppnuypndtit 9< nbnwhwin 5.32 2300 12.236
33600000 Lundhyn| punip q< hwn 233.22 20 4.6644
33600000 Shulh punip Q< hwun 300 10 3
33661116 Lhnnywyhu < upyuly 39 100 3.9
33661116 LhnnYyuwjht 9< huin 763.2 10 7.632
33631260 3nn q< 22hly 375 10 375
33600000 Lnynfuihtu < upyuwly 69 100 6.9
33661122 Muwpwgbunwdng 9L ntnwhwwn 6.50 2500 16.25
33631491 8kwhphght Q< nbnwhuwin 98.98 360 35.6328
24311530 2nwoélh whipopuhn 9< 22hly 127,05 80 10.164
33600000 bnipwghihu 9L huwin 224.70 40 8.988
33600000 Uunwnph uyhpun 9< 22hYy 130.00 10 1.3
33621340 Un$bhU bwinphnd pbugnuwin < upquly 33.60 10 0.336
33661153 NEpuwdbinwgnt QL unyuwly 58 30 1.74
33600000 Unpkwhub$phu 9< upyuly 145 20 29
33671113 Uwipnunwdng uny$uwin < hwwn 800 30 24




33631170

huwtn

264.6

2.646

Lu.ilimuh fhhqhmmnp;‘ pnine

1560

Shkwnpwghyihu Q< 10
33600000 Owinhubipnud G< huwtn 830 10 8.3
33671129 Lhwupnbnipuwy 9< 2h2 70 50 3.5
33691727 “Haputnpng Q< hwtn 251.90 5 1.2595
340000+ | AEPOIUT TR spsanil s o huwtn 13 1000 13.00
Uwhiwinbudwd nwawnny
33140000 Unwplujwlwl wwwyh Q< hwwn i3 2000 26.00
33140000 Ywlnuww)ht thnpdwlnp htiiny Gel&Clot 9L hwn 32 4000 128.00
33140000 s ikl Ll e 9< hwtn 35 1600 56.00
ghupwwnny Na 3,2%
33140000 Upyniu Ybipgubint uiynudwihti wubin Q< hwn 25 6000 150.00
33140000 twbunnp$ dhypnnwppw thnpdwunp S hwin 3.48 4000 13.92
33140000 Udwnndwin Yuenghyh Swjpwlwubp qc hwn 1.32 6000 7.92
33140000 9 winuth 4 6.00

- hihwlwh ujnipk
33210000 Luwhuwdwupbwgbipddwl dhgng Q< {hwp 8000 10 80.0
33210000 hdbpupnt jnin q< dp 20.00 200 4.0
33210000 Ubgh phuwn unphy Q< phuwn 27.50 600 16.50
33210000 Ubigh pbuwn unphy < phuwn 24.60 600 14.76
C-nbwlnhy uyhwnwlnigh npngdwl hwdwp
3321 b 32. 4 K
3210000 T L q< phutn 50 00 13.00
33210000 Snihlynt hwlw A 104] Q< phun 4.14 1200 4.968
33210000 SnihYynt hwlw B 104} q< pbun 4.14 1200 4.968
33210000 Snihlyint hwlw C 54; 9< phun 15.00 400 6.00
33210000 Snihlint hwlw D Q< phun 7.70 1200 9.24
33210000 Chwwwnhwn C npnadwt phun-hwlwpwdnt Q< huwnn 142.80 400 57.12
33210000 <bhywwhin B npngdwt phun-hwlwpwdnt Q< phun 84 400 33.60
33210000 Uh$hipuh npnadwt phun hwwpwdnt 9< phun 130 1000 130
33210000 e, Skt gL e Q< pEUN by 200 8.40
hwywpwdnt
33210000 Lwwnphnuih pinphn NaCl— /XY/ QL gpuwd 3 6000 18.00
33210000 ASO npnadwl phun hwywpwsdnt QL hutn 33.60 200 6.72
33210000 Uny$nuwihghwpeent 9 gpud 10 1000 10.00
33210000 dhunwiht D 25-0H q< phun 1363 192 261.70
33210000 g agions bk Wit | = o phutn 11.88 1600 19.01
hwywpwdnt
33210000 D el i SuptiionbieRus e phun 4256 800 34.05
hwwpwdnt
Phihnniphtih (punhwtinip-ninnwlh) npnadwt
19.2 4 .
33210000 b Sidesia i Nt Q< phun 0 00 7.68
33210000 Ywighnuwih npnadwt hwdwp bwhwinbudws qc abind 20 80 1.60
hwlwpwdnt ,
sagigoon | PMmmbnhbh nppdul hip bepuiiatiugad 1o fobuin 15.80 1400 212
hwywpwdnt
LDL hunjbupbiphtp npngdwt hwdwp
32 Qg b 300 400 120.
S Uwhiwwnbugws hwdwpuwént gt #0.00
33210000 MULSH ppngdils hudian buduumbinds Ve phutn 17.60 600 10.56
hwywpwdnt
33210000 HLUS-F npnochu haahap Bihuntglos = 1 <. - e 17.60 600 10.56
hwywpuwdént
u &
33210000 EREIR o i G g Q< pbutn 28.50 600 17.10
hwywpwdnt
33210000 RRREe ol hulken Saduuiiyes - pbuwn 33.30 80 2.66
hwywpwdnt
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Snhathgbiphnh nnnodwt hwdwn twhiwnbudws




33210000 bwfuwnbugws $hpphtingbth npnodwl 9< phutn 80 1200 96.00
hwywpuwdnt
33210000 o hl"&‘i':fa:[’"z"“‘“ Pl q< phutn 192 192 36.86
33210000 Shpphwht (FERR) Q< pbun 278 192 53.38
33210000 Ubiphibl Yuwuwnywn tbpluwtnie /X4/ qc qn 100 200 20.00
33210000 Mndwunyulyh-ghdqw ubplwiyne X4/ QL d 12 2000 24.00
33210000 Uwy Spintuduin ubplwtynye /X4/ < 4 12 2000 24.00
33210000 Unuwppent HCL Q< u 6 200 1.20
33210000 Lwuinphghwuphynud q< qn 6 200 1.20




